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Choose one of the followingthree subjects

First subject:

Sociology adopts the same methods of the physical sciences.
1- Explain this statement of Durkheim and state the problematic it raises.
2- Discuss this statement in the light of other theories.
3- Is there any benefit from studying sociology? Justify your answer.

Second subject:

Force cannot establish neither right nor duty.
1- Explain this statement of Rousseau and state the problematic it raises.
2- Discuss this statement in the light of other theories.
3- Does obeying duty signify blind obedience? Justify your answer.

Third subject: Text

What happens when one of our acts ceases to be spontaneous and
becomes mechanical? The consciousness retires from this act. When we learn
an exercise, for example, we are at the beginning conscious of every
movement that we do, because it comes from us, and because it is the result
of a decision, and it requires a choice. In as much as these movements are
connected and flow in succession, mechanically from each other, then they
exempt us from making a decision and a choice. The consciousness of the
movements weakens then disappears. On the other hand, what are the times
when the consciousness reaches the highest degrees of its vivacity? Aren’t
they the times of internal crisis when we hesitate between two or more
choices, or when we feel that our future will be what we have made of it? It
seems that the difference in the degrees of intensity in our consciousness
conforms well to a set of choices that increase in degree, or, if you want, with
the ratio of creative acts included in our behaviors. Everything drives us to
believe that this is the case of the consciousness, in general. ( ..)
Consciousness, therefore, is a synonym of choice.

Bergson

1- Explain the ideas of the text and state the problematic it raises.

2- Discuss the text by relying on Freud’s theories.

3- Is self-consciousness (introspection) a reliable knowledge? Justify your
answer.
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